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T | KEY |

Show your work! No calculators! Please draw a around your answers!
Please do not write on your desk!

1. (2x6 =12 pts.) Let D be the triangle in the 2—dimensional space with vertices (—1, —1),
(1,-1), and (—1,2), and suppose f(z,y) be a function continuous function on D.
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(a) Find a, By,é’sothat/ fxy)dA / /fﬂ:y ) dydz
o= —| B= | = ol se= 122

DO NOT EVALUATE THIS INTEGRAL.

()Fmdaﬂy,@sothat//fxydfl //fxydxdy

a= | p= 2 =1 0=

DO NOT EVALUATE THIS INTEGRAL.

2. (8 pts.) Evaluate the integral / / sin(z*) dz dy by reversing the order of integration.
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3. (3x4 =12 pts.) Convert the integral / f(z,y) dA to an integral in polar coordinates.
R

(a) R is the annulus (washer) between the circles z 4+ y? = 1 and z* 4 % = 5.

/ P(rw&@ Fi9Y - «jc (f{i)
rﬂ-

f _;( osQ rsiv vi‘x « 5“ m@m

(¢) R is the region in the first quadrant inside the circles z* + y* = 10 that is to the

right of the line x = 1. “ - | O\
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4. (10 ISts.) Use the change of variables s = y, t = y — z° to evaluate // z dz dy over the
R

o

region R in the first quadrant bounded by y = 0, y = 25, y = 2%, and y = z2—7.
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5. (2 pts.) What is the full e-mail address of your teaching assistant?
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